ASSIGNMENT 4 SOLUTIONS
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[image: image3.png]3.4.1  We use the fact that V f(a) is the normal to the tangent line at a of the level curve of
f passing through a.
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[image: image5.png]3.4.2  We use the fact that V f(a) is the normal to the tangent plane at a of the level surface
of f passing through a.
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[image: image7.png]3.5.1 Ifg-g’ =0, then (g-g) =0, and so ||g||? is constant. Thus, g lies on a sphere centered
at the origin.

3.5.2 ||g'|| = const <= ||g||?> = (const)? <= 2g’-g” =0 <= the velocity and acceleration
vectors are always orthogonal.
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